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Time : 2 Hours Marks : 100
Instructions :

(1)

(i)

Each correct answer is awarded with one mark. There will be 1/4 negative mark for every
Wrong answer.

108 DTSN IE0 208 55780y (D€ By OITFETarAE 1/4 20006728 537805 9 522C0D.

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer sheet,
separately supplied to you.

A% ADID 1B (HFLE BIDAS T3S DOV DAFPETASND DLED T
JrDOT @08 1, 2, 3 B8 4 IH™ 3D)S OMR ISPETS J|edneS (HF) Do
DB K> SO0 2E3ER 20°/23°8 2rS PN 0E] VD), ENAITROD) AONISBX.

There are five books namely M, N, O, P and Q. The book O lies above P, the book Q is below M
and N is below Q. If M lies below P, which is at the bottom ?

M, N, O, P 00050 Q &3 00 HASPEN o) 0N, )RZ0 P 8§ DS 0 &0, HIAZo M §
AKX (8od) Q &od, Q 8 BN N &GO&. P8 &S M &0, @0)¢350T) &S B
N A& &GOS ?

1 M 2 O 3) Q 4 N

2. In a certain code, RAT is written as 12 and RAN as 6, then RAG is written in the same code as :
28 QBN F&EES’, RAT 12 e RAN Q 6 7 T°art. @083 S& S’ RAG Q & D0 O3y,
1 9 2) 4 3) 7 “4 8

3. Mabhesh goes towards North; turns right and after moving some distance turns right again and
then turns to the left. In.which direction is Mahesh facing now ?
(1) West (2) East (3) ‘“South (4) North
B8 &S OYRUT DDY, BB @8A Fod Ordsn oS $Sard Snded
BOASHIE BON €3 BT Chadw ) IB0 ECVENTPERD. YY) a8 & OBy BB
LT T & ?
(1) DS (2) " &) (3) . 8w 4) &S830

4. In a certain code, EULP is written as SOXH. How will GIRL be written in the same code ?
28 QBN F&S, EULP Q) SOXH M v, @98 &S GIRL Q oY T°°0 ?
(1) OuULJ (2) LJOU (3) JULO (4) LOJU

5. The product of the missing numbers in the following sequence (pattern) is
2,7,17,22,32, 2 47, 2 .
&8 BN 9DEXN0 (H0NEIN0) & S DODD HOWEE 2SN
2,7,17,22,32, 7,47, 2.
(1) 1924 (2) 1354 (3) 1824 (4) 1570
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A, B, C, D and E are members of a family. There are two mothers, two daughters and
two males. E is the husband of mother of a singer and the singer is the youngest of all the family
members. The grandfather of D is husband of A. If C is the daughter of B, then how is B related
toE?

(1)  Grand-daughter (2) Grandmother

(3) Son-in-Law (4) Father-in-Law

A, B, C, D sS850 E e 2,8 Z0e0n0206°R H2hsen. a8 9% eenen, addh $usr3e,
ROB HBDEN &) S, TN T 558 3O 258 E B $0enoa HehoS eoed
DAY DO e I3 S8R, D WEY @A, A A3E), 58, BESrS C eons, E §
B & 50> D000 D ?

(1) ST eN (2) @020 B> TANDN

(3)  een 4)  SrmrSd

A, B, C, D, E and F sit in a row. Three of them are females. All the males never sit together. F is
on the right to D and D is on the right to B. A is a female and sits at the left end: Only E.is in
between B and C. Persons of same gender sit at both the ends and the four persons sitting from

left end are of alternate genders, then the three persons at 2%, 3™ and 5" places from the right end are

A B C D E Fen 2ddos §r8)Q o). arde S (e, HSsnen eodd
285 S8, D & B0 S FEDO050 B & 506 (D815 D ) 30. A 208 (R, &0 56
%3S DIES” ErS I Gar) . 28 OoKNSNSE TOAD Ss3en, Bow IO DSBS
BP0 )0EFHD aNBAD DI (DS VIS DOG ErF)) e I580en 2,55 D
2,585 | HBLNENIH BB DSE DO 2, 3, 5 TSNS ErFID &), S0HS
Ssdven.

(1) F,ED (2) C,E,B

(3) B,C,D (4) A,B,C

If the arithmetic operations +, —, X, + and A (exponent) respectively represent the symbols,

o, B, v, 6, and p, then the value of the expression (2 p 6) a5 7 y4 62 =

+, —, X, + NOAW A (reos QrddEdn) O @08 Heded HBEaden SO o, B, 7, S,
BTN p HES S, (2 p6) a5 B7 v4 82 =

(1) 1587 2) 3p25

() Syl @ 2p(3)
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Read the following passage and answer the questions from (9 — 12) that follow by choosing the correct

answer from the options :

If I had been asked in my early youth whether I preferred to have dealings only with men or only

with books, my answer would certainly have been in favour of books. In later years this has become

less and less. Not that I have had so much better experiences with men than with books, on the contrary

delightful books even now come my way more often than purely delightful men. But the many bad

experiences with men have nourished the meadow of my life as the noblest books could not be.

9. Which one of the following statements best reflects the main arguments of the passage ?
(1) It is the experience with other human beings that nourishes one’s life more than good
books.
(2)  There are more purely delightful men compared to purely delightful books.
(3) Neither men nor books give any worthwhile expetience.
(4) Books are always better than men.
10. What is the antonym of the word ‘delightful” ?
(1)  brackish (2) savory
(3) delectable (4) sunny
11. What could be the reason for the author’s diminishing love for books in his later years ?
(1) He had given up the habit of reading books.
(2) The unpleasant experiences he had with men were more valuable than what the noble
books could give.
(3) He did not get many delightful books to read.
(4) He had better experiences with men than with books.
12.  Which one of the pairs of phrases best helps to bring out the metaphorical meaning of the
‘meadow of my life’ ?
(1)  Well nourished but disinterested life
(2)  Simple and peaceful life
(3)  Pure and healthy life
(4)  Vast and meaningful life
PRPI1 [R]



Read the following passage and answer the questions from (13 — 15) that follow by choosing the right
option :

Creative writing is any piece of writing where the purpose is to express thoughts, feelings and emotions
rather than to simply convey information. Creative writing is writing that expresses the writers’
thoughts and feelings in an imaginative, often unique, and poetic way. The use of metaphors, motifs and
different language structures is the very basis of creative writing. Creative writing is not only for
writing prose, poetry or fiction, it can also be used for successful reporting, impressive communication
and effective advertising.

Creative writing involves more than just being a creative individual. You need to know the
fundamentals of writing well. It is a proper command over language that enables you to express
yourself in an interesting manner. Use of synonyms, idiomatic use of language, knowing the difference
between the written and the spoken word, formal and informal expressions, and sentence structures are
some of the language elements that help you in creative writing. However, in the process of creative
writing one can sometimes experience writer’s block; this is just a temporary lull in the creative
process. Just look around and you might find something that you can write-a story about. Use your
imagination to help you create story ideas. You can find inspiration in things that happen throughout
your day. For example, if you see an odd shaped car zooming past by on a dark night you could write
down a few lines about what would have happened if you had won. Creative writing involves good
imagination and a command over a language and expression.

13. In the above passage “writer’s block” means
(1)  blocks of a building (2) a writer’s pen
(3) creative writer’s home (4) apause in the creative process

14. Match the words in List — I'with their meanings in List — 1L

List—1I List— 11
A. unique 1. deserving attention
B.  impressive il. moving quickly
C.  zooming 1ii.  to cause to sleep or rest
D. /dol iv.  very special or uhusual
E. lull V. greatly loved person
vi.  showing emotions
A B C D E
() v il i i v
2 v i i v i
3) iv i ii \ il
@ v i il vi il

15. What does ‘idiomatic use’ mean ?
(1)  An expression that cannot be understood from the meanings of its separate words but that
has a separate meaning of its own.
(2) A style or form of expression that is characteristic of a celebrity or any important person.
(3)  An expression that can be understood from the words given in it.
(4) A form of a language that is spoken across the world.

PRP1 [R]



Rearrange the following sentences so as to get a coherent passage and answer the questions from
(16 — 22) that follow based on this passage :

A.  He told him about the traffic going by, the children playing in the park opposite, and the
birds flying in the trees.

B.  Sure enough, the next morning, the nurse found the man dead in his bed by the window.

C.  But his friend, imagining an empty bed over by the window, did nothing — he just closed

his eyes and went back to sleep.
D.  Both men were very old and very ill, and they spent 24 hours a day in bed in the room.

E. Fortunately, one of the old men had his bed by the window, and everyday he spent hours

telling his friend on the other side of the room what he could see through the window.
F. Two old men shared a room on the fourth floor of an old people’s home in the city centre.

G.  How nice it would be, he thought, if he had the bed by the window and could see

everything for himself, instead of just hearing about it.

H.  One night, the man by the window calledto his friend, ‘Quick ! Pull the alarm by.your bed
— I don’t think I am going to last thenight !”

L The old man on the inside wall got a lot of pleasure from hearing about the world outside,

but after a time, he began to get rather jealous.

16. In the room the beds were positioned as
(1)  One against the wall, the other near the window.
(2) 'Both the beds near'the door.
(3)  One placed vertical and the other horizontal.

(4) Both the beds overlooking the window.

17. The correct sequence of the above passage is

S1 S2 S3 S4 S5 S6 S7 S8 S9

(1) F D A E G 1 H C B
@2 F D E A G H I C B
3 F D E A G I H C B
4 F D E G A H I B C

PRP1 [R]



18.

The phrase ‘A bed by the window’ means

(1) A bed away from the window

(2) A bed overlooking the window

(3) A bed made with the wood of the window

(4) A bed against the window

19. What could be the most appropriate title of the passage ?
(1)  The bed by the window
(2) Two happy old men
(3) Old people’s happy home
(4) Non ringing alarm bell
20. The sentence ‘Don’t think I am goingto last the night’ means.
(1) I'may wake up first. (2) " I might die before morning.
(3) I'll be the firstto wake up. (4) Tll'be last to sleep.
21. The man whose bed was against the wall did not respond to the request of the other man as
(1) 'He was worried that the nursing staff would disturb his sleep.
(2) He was fast asleep.
(3) He wished the man near the window to vacate the bed.
(4) He did not hear the request.
22. The phrase ‘went back to sleep’ means
(1) slept on the back of the bed
(2)  went to the backyard to sleep
(3) continued to sleep
(4)  to sleep on his back
PRPI1 [R]



23. 24 men complete a work in 16 days and 32 women complete it in 24 days. 16 men and 8 women
started that work and worked for 12 days. If the remaining work is to be completed in 4 days, the
number of men to be further added to the existing workforce is

24 508 HHAN 2.8 DA 16 FereS® 8 TS, 0T DA 32 0 (e 24 FerereS’
78 TS, 16 00 HBEN, 8 DO (AEN & HAD TS 3 12 Faren D TS
DADINIY 4 TS b TS0 B &) HITOE [FST BEISOVS
DB SoWS

1 12 2) 9

3) 16 4) 14

24, In a school examination, in which 3000 students appeared, 30%failed in mathematics, 25%
failed in English while 20% failed in both the subjects. The number of students who passed in
either of the subjects but not in both, is
08 FETO HOZS 3000 H0H Arsen HuBS, TS 30% HedSoS D, 25%
S0BOSWY, 20% & Bok IPPOS GBEHEN FH. DO VPO RO, 2.8
TS’ ST GBDHBS s HoPS
(1) 300 (2) 450
3) 150 (4) 200

25. A shopkeeper allows a discount of 10% on an article and gives one article free for every fifteen
articles bought by a customer. If he still gains 35% in this transaction, then the marked price of
the article exceeds the cost price by
28 CNSPEITP D) 2685505 2 10% S0ET® B 20 (R, 08) €950 0D, TSI
ER (D€ 15 S5a0YED 28 850D BDBOM R, &8 el 2 @65 YOEIF 35% 230
SPOCNBIOT, €3 29 AN (DEEIB 58, TS 0T WO &OT 3°H0
(1) 40% 2) 30%

3) 60% 4 50%

26. The ratio of alcohol to water in a mixture of 120 litres is 2:1. If this ratio of alcohol to water is
made 2:3, then the quantity of water (in litres) present in the newly made mixture is

B80S HOAW A EDVS 120 ALY WF00S @S, KO dHIB 2 & 1. &
@355S, QBO DAYB 2 1 3 P TSN, (FST TS WF00S &oB D HBXTe0
(Oer8e)

() 120 (2) 140
(3) 60 4) 80
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27.

28.

29.

Smitha’s collection of 113 greeting cards include a mix of birthday cards, new year cards, Diwali
cards, Christmas cards and a marriage anniversary card. The number of birthday cards is equal to
the sum of all the other except the marriage anniversary card. The number of new year cards is
double the number of Diwali cards. Which in turn is double the number of Christmas cards. Then

the ratio of the birthday cards to the Diwali cards in her collection is

2% DEB0DS 113 (Ae30h DS HES o, Srehd D030, AFDP, BRIV
52N DB 28 DT 88190 EEN G0N, DS Fer 5O HoWS, Dardr
013 D AT WADS DO @) 03 BNBINIEY D80, A D055 S
5 SO AP 57O HOPZ BE0Y), AP 52HS SO, 18NNV o doss
Be305). & DESS’ HES T OH, BFSD 2H Hed D).

(1) 5:2 2) 83

3 7 (4) 72

If January 8, 2004 was a Thursday, then what day of the week is January 11, 2005 ?

(1) Tuesday (2) Wednesday

(3) Sunday (4) Monday

2004 2356 853 BE MHRE0 0N, 2005, 238558 1155 BE TS0 &) For eHeod ?
(1) Sosgardo (2) QB0

3) sd>d0 4 oo

A clock is set right at 5 a.m. This clock loses 16 minutes in a day. If the clock shows 10 p.m. on

the 4™ day, then the true time at that instant is

28 $AASrorQ) 5 am. & $D)0Sor H8 T, & HAOTS0 28 S 16 ddnaren
SN0, &8 HAATSE0 465 F2S 10 p.m TSRS, € HeDOITPE TS Baadw

(1)  9.45p.m. ) 11.10 p.m.

(3) 11pm 4) 10.30 p.m.

PRP1
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30.

31.

32,

33.

34.

Which one of the following district is NOT part of Northern Telangana Agro-Climatic zone ?

(1) Nizamabad 2) Rajanna-Sircilla (3) Nirmal (4) Siddipet

BO® DX BOS &SE BOOME) S5 AN-IS RV 000 (B'S) HBHSE ool
B

() Jderdrerd  (2) T°3d)-28J” (3)  IBS 4) DY

Which of the following statements are correct about the ‘National Institution for Transforming

India (NITI) Aayog’ :

A.  NITI Aayog was established by the government of India as a replacement for the Planning
Commission.

B. It provides critical, directional, strategical and technical inputs to the development process
and advice to the central and state governments.

C.  Itcreates a knowledge, innovation and entrepreneural support through collaborations.

D.  The Vice-Chairman of the NITI-Aayog is Arvind Panagaria.

DS e3eh (NITI Aayog) 5o H020E0D 80 XSS HOTDHD DN ?

A DY D00 TS0 2B eh 92565 50 D e3TITHD D00

B. Zold TR DHherse eDIy0 HDIBAHES’ Eo¥Dod, BT 183N, TROHD,
TOTBERS GE° ) AT WOANOA.

C. 5580 (Ferdldid) @rso® D0, 0380)IN 00 o308
Qe O0BNOA.

D. A8 oBrh IV-BEIST 3N0E HrEaD e S

The correct answer is/ OO 23720 D ?

(1) A andB only (2) A and D only

(3) A,BandC only (4) B,CandD only

Teak, Sal, Sandalwood are important species of

(1) Tropical Evergreen forests (2).. Tropical Deciduous Forests
(3) /Tropical Thorn Forests (4) Montane forests

BB, PO DA DONS0 &) €¢8sH)@IE OV 0D NPT D98, 2°esren
(1) e DO Oeved FOTIeTseN  (2) ol OGO ST, @csa)en

(3) G DO SNOCS e9¢HHeN 4) Tro&O edyHen

Bhakra-Nangal Project.is a joint venture of States which include

a. Punjab b. Haryana c.  Rajasthan d. Uttar Pradesh
2°(S°-0KD &5 (SOB T oF© A3EY SoosnE (a3’

a. doRd b. &Oge C. OTBYQ d &SH3BF
The correct codes are / SODS §& -

(1) a,b&conly (2) b,c&donly (3) a,b&donly (4) a,c&donly
Lakhnavaram lake is situated in which district ?

(1) Nirmal (2) Bhadradri

(3) Warangal Rural (4) Jaishanker Bhupalapally

%) IB0 HBEMY) e 23e°

1) &S 2 I

(3)  SB08S Er8S (4) 23093085 LSrredd)

PRP1
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3s.

Examine the following statements on National Highways in Telangana :
A.  There are 17 National Highways in the state.
B.  The National Highways cover a length of 3,862 kms (nearly) crisscrossing the state.

C.  The density of notified National Highways in Telangana is 3.44 km/100 sq. kms against
the national average of 3.02 km per 100 sq. kms.

B0’ 2309 BPTEOZ HD00O0DS 80E D3B3 H8ID0B0H :
A, T RO 17 2305 BSFTTEEN S Ow.

B. TR0 &) @) B0H SFrden $O 0o 3,862 8.2, (P S0
OB o) OW.

C. BOOrnS St DE 2BODH ST o[ 100 598D 8.0.5) 3.44 8. s
2SO FONES D FP0(5eh 3.02 8., &0d.

Choose the incorrect statement/s : / OOTNOITR) QIBE2D/D DONE WANOE :

(1) Aonly (2) AandC only
(3) A andB only (4) Band C only
36. Which of the following statements are correct about the ‘Kishori Shakti Yojana’ ?
A.  Thetarget group of the yojana is the adolescent girls in the age group of 10 to 18 years.
B. /The yojana is viewed as a holistic initiative for the development of adolescent girls.
C.  One of the objectives of the yojana is to link them to opportunities for learning life skills,
going back to school and take initiatives to become productive members of the society.
88 38 7230980 H020E0D) 80 DIBLOS HBTDON DD ?
A. 10 HOG 18 0055307 s SHONNY) e T3S 2O EB) &8 HHE0 SO0,
B. §55°8 2rOEe D850 @9DNHB8 &t DHE0 2,8 DB SEXM™ 2032200,
C. 2Jh JHEFSOD FEIFIETIE 05550 D )oHB0,FIFOH I dSraoss
&Er )58 H2EOTN0NE &8 HGE0 &TR0VDA0L.
The correct answer is / QOGN 23a3°20 & ?
(1) B,C&Donly (2) A,BandConly
(3) A&Donly (4) B&Conly
PRP1 [R] 11



37.

Which of the following provisions of the Indian Constitution came into force from November 26,
1949 ?

I.  Provisions relating to citizenship 1L Provisions relating to elections
II1. Provisions relating to provisional Parliament IV.  Fundamental Rights
(1) L IIandIII (2) None ofthese (3) TandIIl (4) LIlandIV

0235080 & (80A Q0GOS D 35020K0 26, 1949 0 50N IE HDYoE ?
L D835 Q205N

L )85 S0D0Q0NS QDO

. @)% FO00ENE H020H0DD d20den

IV. [PQE P50 80 SOD0H0DIN.

QBTN 23537200 DODE B0
() 1110808 M1 (2) WISy
3) T16asw III 4) 1, I 8w IV
38. Match the following :
Committees of Constituent Assembly Chairman
A.  Union Constitution Committee I. Dr. B.R. Ambedkar
B.  Working Committee 2. Jawaharlal Nehru
C.  Drafting Committee 3. Kanhaiyalal Munshi
D.  Advisory Committee on Fundamental & Minority 4. Vallabhbhai Patel
Rights and Tribal & Excluded Areas
&3 808 re3Q 23¢h TANOE.
gneSen BEIS
A. 30 doren $0eE3 1. @ D.esb 025¢5,0
B. %800 E25¢3 2. B350 &S I
C. (oh §0es 3. EQ08r &S A0
D. (@708 8050 ey Hogrss ZEINISEATA O W)
BN B FELO DI E¢s
Choose the correct pairs/answer : / OOQD 2365:35/233°200 DONE BONOR :
A B C D
() 4 2 3 1
2 4 3 1 2
3 2 3 1 4
4 3 2 1 4
39. Which of the following is specifically NOT mentioned in Article 19 of the Constitution ?
(1)  Freedom to assemble peacefully without arms
(2)  Freedom of speech and expression
(3) Freedom of press
(4) Freedom to move freely
531808 ) @030 195 T°250H OSSR |HBSE0D FPOCNIGTIDHEC ?
(1) D AADS 3ANGEEN BEOT® FP0ANHOMT R S )T DX F0 S0
(2) o8 B0 27 558880 D55
(3) DS LI
@) DA S0dBodeo
PRP1 [R] 12



40. Which of the following is/are included in the Directive Principles of State Policy ?
(a)  Prohibition of Traffic in human beings and forced labour.
(b)  Prohibition of consumption except for medical purposes of intoxicating drinks and of other
drugs which are injurious to health.
(c)  Equality of Opportunity for all
(1)  Both (b) and (¢) (2) All of these
(3) (a)only (4)  (b) only
531808 73S’ DY TS SR OS” FPONIBIDABID.
(2) 3570 @[3 Bared® SDBAN DBHOE 5283500 H53Q 0.
(b) s8I 5 EOAOT B QAT DO YHES 08 HET O, S50 FEH
S350 DIIFONOD), DAQOIE0.
() @0888I87S e9dse3een & )0Tiso.
QB 237200 DONE TONOR
(1) (b) DBAW (c) Q) VIQYAW
() (2) SPSD @ (b)) SIS
41. Which of the following conditions are necessary for the issue of writ of ‘Quo Warranto’ ?
(a) The office must be public and must be created by a statute or by the Constitution itself.
(b)  The office must be substantive and not merely the function or'employment of the servant at
the will and during the pleasure of another.
(c)  There has been contravention of the Constitution or a statutory instrument in appointing
such person to the office.
(1) (a)and (c) only (2) (a)and (b) only
(3) (a),(b)and(c) (4) (b)and (¢) only
&3 1808 DDEVBOS' & FBOE ©® BE 2378 TN ?
(a) SOPSEIANM (925065 SANTANOE T°225000 BT FPAN0 T S0° EreroHONDES).
(b) STPEOONNN - ONTIIE WONEOR S N VBRSO ALY (DSE0 S50
SsHom sowd.
(€) 28 358 QOSFraNE0 Tre§01i0 B FFROTVE PO 2BOASVS.
QB 2337200 DONE DANOR :
(1) (a) OO (¢) (e (2)  (a) OO (b) S5
(3)  (a), (b) HOAW () 4)  (b) OAW (¢) 855°Le§33
42. Among the following statements, which one is not correct ?
(1)  Supreme Court can hear from any court/tribunals as well as from court-martial.
(2)  Supreme Court can hear from any court/tribunals except court-martial.
(3)  Supreme Court was constituted in 1950.
(4)  Supreme Court is the highest court of appeal in the country.
&3 1808 (DELIOS” A HBTDSE 5.
(1) 0§, ABED S (320053809 965 §B) S28S 0B aedden DdSTR..
(2)  28) T SrES 0B $H) N0 FW @) T TE5en D530,
(3) DO T 195065 FDOTS.
(4) DO T TIoS® e9¢855) 65 €99))ENS LD S0
PRPI1 [R] 13



43.

44,

45.

46.

47.

48.

A judge of the Supreme Court can be removed from the position only on the grounds of
(1) Senility (2) Gross inefficiency

(3) Imbecile conduct (4) Proved misbehaviour or incapacity
D DOV’ 2SS DO T 5D 8 ORISR ?

(1) 800 HOeTSTen

2) e Y

(3) DS TBYO0S ErAS (D98

@) QBTDOVDES DRSS DO Y

The idea of Lokpal is taken from

(1) USA (2) France

(3) Scandinavian Countries (4) UK

SEFS IS0 D8 HOG BNEDR0E.

(1) N85 SoASNE T°(arew 2) S

(3) VYUIAIIANS B3N (4) Or=es 8ohiddad

Regarding Equality Before Law, the Indian Constitution makes exceptions in the case of
(1)  Foreign citizens only (2) President and Foreign citizens only
(3)  President only (4) President or Governor of a State

298 HXT5¢5 20 DAANOES, 237G eh T°2S0H0 IO AISFON0SY RNOE ?
(1) DT DC0en Sr(edad (2) T RO DO DT DBEN 575D
(3) ORI S(hod 4 O°laded S 853830

Which one of the following Acts formally introduced the principles_ of elections for the first time

in India ?

(1) The Government of India Act, 1935 * (2) The Indian Independence Act, 1947

(3) The Indian Councils Aect, 1909 (4) The Government of India Act, 1919

&3 (808 BVEFeS erESHTIOS & 0 TS0° DJYFEN Ar(@ren OSEE0r SIS

(0538 DEQDAID.

(1) 28 (52065 ¢ w580, 1935 (2) 28 5505y &0, 1947

B) QOGBADS TARF) &0, 1909 (4) 286 (H2Ned s &0, 1919

The value of a vote of a member of Parliament for the election of the President is determined by

dividing the

(1) Nation’s population as per the latest Census by the members of Lok Sabha.

(2) Nation’s population as per the latest Census by the total members of Rajya Sabha.

(3) Value of votes of members of all the states legislative assemblies by the elected members

of the Houses of the Parliament.
(4) Nation’s population-as per latest Census by the total strength of the two Houses of the
Parliament.

@55 ) 8 SO POTD0EN DA 20N DeENS e PN ?

(1) & B3 8000850 (D560 S0B0 2877 75025 B0 H20IOS 2580t
INTARINPAIGVINE

(2) &2 T3 2372 BEL© (95°B0 B0 2337230 T°23§85 NS D2IEBOTIT 85 IS Dexed.

(3) @) Tale FPOI0202NLL 2,8 JINB0 DeNSN A E SRR FODOLD 2SO
Q250 D25 DOWSTI N25B0THDRS DeNL.

(4) =2 TF B0y B0 (OG0 0o 3arerdd TN HB0W Tres N HEHsesS
BAPATATO TN RN TARIN A ISV

The Contingency Fund of the State is operated by whom ?

(1) Chief Minister (2) Council of Ministers (3) President (4) Governor
70 TBNEY 8528 A DB T°50° QBP0 0E ?

(1) S0WEO0LE (2) O30 (3) TFH5ZO 4)  858)%

PRP1
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49. Arrange the following events in chronological order :

A.  The Battle of Plassey B.  The Third Battle of Panipat

C.  The Third Anglo-Maratha War D.  The Third Anglo-Mysore War

&8 (808 73R BT o e S yod

A DD AP0 B. Q0083 3rQNE] A0

C.  S05chd €0l -0 asndo D.  S05°chss es0f - Rrd Ao
The correct answer is/ QBTN 2355°20 D ?

() C,A,B,D 2) A,B,D,C 3 AB,CD 4 B,C,D,A

50. Match the following :

A.  Poona Sarvajanik Sabha 1. Veeraraghava Chary
B.  Indian Association ii. Pherozshah Mehta
C.  Madras Mahajana Sabha iii.  M.G. Ranade

D. Bombay Presidency Association iv.  S.N. Benerjee

&3 (808 °¢3Q) 2365DB M.

A, SR G588 H2S i BTN O

B. 20800S @RI jie’ DS x e

C. DR %S O3S iii. O%90.23 333

D. 257023 VB OFDDAS. iv. ONR. ADS. BSY
The correct answer is/ QOO 2363°2 D& ?
A B C D

() i i v i
Q) iv i i
3) i i i v
@ i iv i i

51. Match the following :

A.  Dadabhai Naoroji 1. Satyarth Prakash

B.  Dayanand Saraswati ii. Kapalkundala

C. Bal Gangadhar Tilak iii.  The wants and means of India

D.  Bankim Chandra Chetterjee iv.  Gita Rahasya

&8 (808 °¢3Q) 235D B TN,

A. Toreron I8E i dosd (D578

B. S05rS08 OB ged ii. Srodvoce

C. 2>@® Bomred e3e>§ iii. & 06 @o& DI e8P RORO”
D. 208030 texd iv. e 35050

The correct answer is/ QBTN 2355°20 D ?
A B C D

(1 iv i i i
Q) i i i v
G) i i i v
@ i i v i

PRP1 [R]



52.

Assertion (A) : The Indian Freedom struggle gained mass base during the Non-co-operation
Movement in 1920.

Reason (R) : A large number peasants and workers participated in the movement led by
Gandhiji.

(1)  (A)is true, but (R) is false.

(2) (A)is false, but (R) is true.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not a correct explanation of (A).

DBASS (A) : 1920 7¢I IPAD AT°EBD €500 27Ged 2550\ hs FT T8 D eh
DBE EOR0DOA.

88090 (R) : MOHE raHEH 0T & 555006 DY HowseS Beoen 5268000
T ) .

(1) (A) 83 5 (R) ).

2)  (A) 39) 5 (R) DY

(3)  (A) B3 (R) EBEY 0O (R), (A) 008 5°8£0/DdS¢.

(4)  (A) B3 (R) BOT B 52 (R)(A) 80 0B 525690 5°¢.

53.  Which one of the following statements is correct with regardto the Minto Morley Reforms of
1909 ?
(1)  Only the Britishers were nominated to the Executive Council of the Viceroy .
(2)  Enlarged the Central and Provincial Legislative Councils.
(3)  Established a constitution making body for India.
(4) Decreased the number of the Provincial and Central legislative members.
1909 O’ S0 H0NYBEIDE H0D0EO0D &2 (0B ¢3S HBIE D ?
(1) | S0 05753 Y 500 (DD 0 Sr(ehsh PR TArE.
(2) | O°arersHBo5N Bo(XNBE VED FIEY J[Weh HBTIDBTON.
(3) PESTIOS TS50 T2 DO® DT IWOA.
(4)  So(& B0 TFla Arow B8 e3S TS H20se> Hows SNoHDR08.
54. Arrange the following Viceroys in chronological order :
1. Lord Linlithgow ii. Lord Irwin
iii.  Lord Willingdon iv.  Lord Wavell
V. Lord Reading
&5 1808 RS DBS BP0 SBIEN0S 90E)0A.
i ) OSOST . e 2058
iii. o0 3OS iv. od IS
v. o0 88&0h
The correct answer is/ QBTN 2353°20 D ?
(1) v, ii,iv, i, iil 2) wv,ii,iii, i, iv
3) i, ii, 1, v,1v (4) i, i, iv, v, 1
PRPI1 [R] 16



55. Assertion (A) : The Andhra Mahasabha was established in 1930.
Reason (R) : It worked for the all round development of Telugu People.
(1) (A)is true, but (R) is false.
(2) (A)is false, but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
DBIES (A) 1 S0 03825 1930 & D03 IB0S” FDOIDEOE.
580 (R) &3 D0 @) SoNSHOES Bend 8 eNYR8 Eyd ToA.
(1) (A) B 5 (R) ).
2)  (A) )5 (R) §BY
(3)  (A) B0 (R) EBEY 0O (R) (A) 0 HBS DadSea.
4)  (A) DO (R) BOGT $BE 59, (R) (A) 0 OB d&HBea s°e.
56. Match the following :
A. Raymond 1. Hali-Sikka Currency
B.  Salarjung I ii.  Gunfoundry
C.  Mir Mahaboob Ali Khan  iii.~ Qanooncha-i-Mubarak
D.  Mir Osman Ali Khan iv.  Kachiguda Railway Station
&3 (808 °¢3Q) 23650G LN,
A. Bo& i S)-Ds7y TrES0EN
B. R065¢3 Jrexrbezoh ii. oS ol
C. b HFars ewdgrS iii. SRVOT-Y-S0erdE
D. 5 &S @drS iv. SRS BB VAS
The correct answer is/ QBTN 2355°20 D ?
A B C D
(1) ii i v il
(2) i i i v
3) i il i v
4) i v il i
PRP1 [R] 17



57.

58.

59.

Which one of the following statements is correct ?

(1
)
3)
4

Hyderabad State Bank was established by Mir Osman Ali Khan.
Hayat Bakshi Begum built the Hussain Sagar Tank in Hyderabad.
Deshodharaka Grandhamala was started by K.C. Gupta.

Bhagya Reddy Varma was called the Ambedker of Hyderabad.

& 1806 ¢3S’ HBE0N (DHTISID DA ?

(1
)
3)
4

B &S DTS 3TTerE VE 250850 TP DO,
STVRIR 0 TBEYD TN 28 23150 AB0D0A.
3.2, 50 B TEE [HODXITOK FD0T e

2tisBE 58 e @023¢5) BT e D).

Who wrote the Book “Na Jailu‘Gnapakalu — Anubhavalu” ?

(1
3)

T. Sadalaxmi (2) Arutla Kamala Devi

Eshwari Bai (4) Sangam Laxmi Bai

“T° BN ATFHNSPED - @9 02Iaren” |HOE §8 D% ?

(1
3)

& dre 8 (2) eSO EerT

&3 58 2P0 @)  SHofo ef Jerow

Which of the statement about the Warangal Declaration (1997) is not correct ?

(1
)

3)
4)

Nationalization of Lands owned by Landlords.

To prevent migrations from Mahebubnagar District to other parts of the country and

provide employment.
Establishment of Democratic Telangana State.

Implementation of 1/70 Act in the Agency areas.

&3 1808 e3¢5 5300S BEBAS (1997)50 H020HO0D, IE HBOE 5% ?

(1
)
3)
4)

TS50 BTSN 2Fe30H0 TATO.

05 K6 XS G $0 10D ABE [FroTOH I¢0y SO0 AEGoO.
(D02 LaNE BEOTTED TR0 T®YEN WOSTE.

DB [FroerS’ 1/70 9P sen TASFE.

PRP1

[R]
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60. Match the following :
A.  Submission of Srikrishna Committee Report i. 31% December, 2010
B.  Appointment of Antony Committee 1i. 6™ August, 2013
C.  Appointment of Sushil Kumar Shinde Committee iii. 8™ October, 2013
D.

A.P. State’s Reorganisation Bill was introduced iv. 13" February, 2014

in the Lok Sabha
&3 (808 °¢3Q 2365DB M.
A, BEHR L¢3 BFFL DS i, 31320205 2010
©90¢5°Q Ee3 dasrsvgo i, 6 e 2013

B
C. 03 50575 20T E0e3 Aosreadso iii. 8 0525 2013
D

0[S (DDT T°(Q DO 53233 DN ive. 13 D238 2014
SEHBS (DB DLSO

The correct answer is/ 8D 235°20 D ?

A B C D

() i iv i i
Q) liv i i

G) 1 i il v
@) i i . iv i

61. Identify the following events of Telangana movement in their chronological order :
A.  ‘Sagara Haram’ B. ‘Sadak Bandh’
C.  Million March’. D.  ‘Samsad Yatra’
SO0 €535 50 T°¢3 &3 (808 D003 1880 HO 0T,
A, 0 PO B. Q&8 2085
C. O &) D. Q008 (b
The correct answer is/ QBTN 2355°20 D ?
(1) A,B,D,C (2) B,A,C,D

3) ABCD 4 B,D,CA

PRP1 [R]



62.  Which of the following statements are correct ?
A.  Bayyaram Tank Inscription was issued by Mailamba.
B.  Motupally Abhaya Shasanam was issued by Rudra Deva
C.  Panditaradhya Charitra was written by Palkurki Somanadha
D.  Purushartha Saram was written by Ranganadha
(1) CandD (2) AandB
3) AandC (4) BandD
&3 1808 e3¢5 DB (DeITIDS0EN DD ?
A Derod DASTEE0 TEY) FTIOTR), SONODOA.
B.  3[ABh JrendO 92505 Fe0ar) 3000,
C. a8y PO DORTT RS 98|50 SOV ER.
D. 308,00 HBTIIE0 KOEEQ), HIODTED.
(1) CX8a»D (2)° A DOAWB
3) ANdAwC (4) BB D
63. Which medieval text refers to"*“Dommari Ata’ performed by the itinerant tribe, Dommaris ?
(1) Mohana Tarangana (2)  Sri Sitarama Bhoopala Vilasam
(3) Palanativeera Charitra (4) Amukta Malyada
Q0T 2ed8 WOAS B8 Pt [DDB)0T a0 e’ HB0D & NS AN
BNIS D) 8D ?
(1) [ DES S0k 2) 3B 2ATT BFTO DerH0
(3) DO D 38| (4)  e308 Srersed
64. Match the following :
A. Dommarata 1. Folk art with music, dance and speech
B.  Yakshaganam ii.  Stick play
C.  Kati Papalu iii.  Beating of the Dolu
D. Kolatam iv.  Religious magical function of the death
&8 (808 °¢3Q) 2365DB TN,
A, 800°¢ . O0ABO, S9b 50, SO A 279N §¢
B. a8 mdo i, 30 ese
C. se3rdew iii. v SaNOTIHIW
D. Serédo iv. HAFPFoNS 388 TAW 05DBE TS 00 IS D
The correct pairs are : / QOIS 2350 D ?
(1) A-iii B-iv C-i D—ii
2) A-i B-iv C-ii D-ii
3 A-ii B-i C—iii D-iv
4 A-iii B-i C—-iv D-ii
PRP1 [R] 20



65.

66.

67.

68.

Identify the following pair which is not correctly matched :

(1) Moharram — Ashura
(2) Shab-e-Miraj — Hajj
(3) Bakrid — Id-ul Ajhah
(4) Ramzan — Id-ul Fitr
ST 23650 BN T (HO 0.
(1) rBo - @Nd
(2)  QB) &S - IS
3) 2886 - &5&-&S ey
4) doxrS - &&H-GO D3O
Match the following :

Paper Editor
A Nilagiri Patrika 1. B. Srinivasa-Sharma
B.  Hitabodhini ii. Kokala-Seetharama Sharma
C.  Andhrabhyudayam 1ii. M.Narsinga Rao
D.  The Rayyat iv. Shabnavisu VenketaramaRao
&3 (808 °¢3Q 2365DB 0.

De3¥ QOISR

A, dohd HHE LD B $8)
B. 20 SO ii. 8% Hsoredd 382
C. <0(asesas e iil. ODO. SB8HYOK T
D. 5005 V. 322) %0 BOEE) T°NTY)

The correct pairs are : / SO 23¢he D ?
(1) A—iiipB_iv O©-i  D—ii
2) A—ii Biii C-iv D-i
3) A-i B-ii C-iii D-iv
4 A-iv B%i C-ii D-ii

Which one of the following is related to the ‘Jamidika’ Musical instrument ?

(1)  Budu Bukkalavaru (2) Bairupalas

(3) Baindlas (4) Budige Jangams

531808 3B’ DSB ‘BMEE’ HOfAeh TONTOS D200 EOR ) S ?
(1) 20¢8 208 % 2) BErY® K

(3) 0% &% 4) 22087 Bomred %

In which one of the following places the Buddhist Stupa is not found ?

(1) Bhavanakurthy (2) Nelakondapalli
(3) Dhulikatta (4) Phanigiri

&3 1808 (HTFOS DT 237 AFdedn Sedd ?

(1) 2758808 Q) TOFoBHID
(3) oI (4)  De3nd

PRP1
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69.

70.

Examine the following statements :

A.  Scheduled Caste/Scheduled Tribe community people get ‘100% Input Subsidy Scheme’
upto ¥ 1 lakh of Telangana government.

B.  Telangana’s ‘Land Distribution Scheme’ is aimed at distributing 3 acres of agricultural
land to landless SC/ST women.

Choose the correct answer :

(1)  Only A is correct. (2) Only B is correct.
(3) Both A and B are correct. (4) Both A and B are incorrect.
806 3B HOBOOIOS :

A BOOTE  (D2NHI0  IDDFDED 100% SHE IDIG HBPE0T SO NSrD
B0eren/ AT ST OB TOAS 123N EF 1 ©F BB FocHe .

B. Zrndd ErsS Hoere/nErsQ Sie rEofd 3 ST FHpd S58ral
250 TEFON0R) TWONCO VBOTTE (220ed 53 “25o° H0ES HPZ0’ ©F so:

233" OB 2363°220 I ?
1) A SBTDSS. 2) B HETSO.
(3) A, B Bodr® HBTHBD. @) A, B BOGT HOTSD 5.

Match the following schemes introduced by the Telangana government with their launching
places

Scheme/Programme Launched at
A.  Aasara Pension 1 Kothur
B.  Mission Bhagiratha 2 Gangadevi Palli
C.  Grama Jyothi 3. Sadashivanagar
D.  Mission Kakatiya 4, Komatibanda

SO T (2065 50 (I3F DES 0B DR @) eE0D0VNDAN (DBF0/|Sr0H0es
BSAIOGS0G

dEo/dyo/ Do es80DoBDAS oo

A, &8I0 DI 1. S

B. A& FHSSH 2. KONTR HO

C. (o 8%e3 3. QRS Siib

D. IS sEBA% 4. e300

The correct pairs are : / QOGNS 23650 I ?

(1) A-4,B-1,C-2,D-3 (2) A-1,B-3,C4,D-2
(3) A-l1,B-4,C-2, D-3 (4) A-2,B-4,C-3,D-1

PRP1
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71.

72.

73.

Digital Telangana programme’s main objectives are :

A.  Atleast one member of the family should be made as digitally literate
B.  Teach basics of computers to students from Class 6 onwards

C.  Providing 4G services to the entire state

D.  Making learning computers as a compulsory subject at Intermediate level
The correct answer is :

(1) A,BandC Only (2) A and D Only

(3) AandB only (4) AandConly

B28ES SO0 HHOS0 TINE), SNWS GTIB°EEN O ?

A, 500020 N0 2,838 BBES OEBET SASTE TONEIO.
€335 53K 0B 0SB F0Isdd D5 FB)cho.

4G 38 500 Tl as00eser EOH0Ie0.

. R08809E Fon DS’ S0 DI 5 HIHE TAHEO.
BTN 233720 DA ?

(1) A, BXOW C S(ehodd 2) A DNSOW D SF(ad
(3) A DBASW B S(hodd 4) A NOSSM C H@(edod

o 0w

Assertion (A) : The fine rice scheme waslaunched by the Telangana government in 2015.
Reason (R) : It benefitted 32.7 lakh students so far.

(1) (A)is true, but (R) is false.

(2) (A)is false, but (R) is true.

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

DBIES (A) : BOOMTE TFla (2050 Dd) OO0 HHE0D 2015 & H0oSed Y50
PE0DODVOE.

528890 (R) : AL BD)ES SBH 32.7 25 0B ATrshen &) oD,
(1) (A) 8B, 5% (R) $).

2 (A) 39) 5 (R) §BY

(3)  (A) B0 (R) EBEY, 0O (R), (A) 50 5B Dede.

(4)  (A) B0 (R) BOLT EBEY, 52 (R), (A) 50 OB DS5Bed 5°6%0.

National Sample Survey 70" round estimated farmers indebtedness in Telangana state as :
SAXS F0DS HBS 70 &S To (DTS00 SOOTRS Behoed KETFD) DO F°SOomT
8oty ?

(1) 50% 2) 8%

3) 60% 4 74%

PRP1
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74.

75.

The verdict on Hyderabad twin blasts (Gokul Chat and Lumbini Park) case was announced by the

court in August 2018. How many years later the verdict was delivered ?
(1) 11 years (2) 13 years
(3) 8 years (4) 9 years

IR E 8O DENFY (FHS 6, 00D F6)) Tz ety 2018 ¢° §L) 509 )
15300, B30 D), 0N IT'OE TSRO ?

(1) 1150388 o°en (2) 1300307 en

3) 8 05edyoren 4 9505¢dyoren

Examine the following statements :
A. On June 29, 2018, the Chief Minister-of Telangana laid the foundation stone for Gattu

Irrigation Project in Mahbubnagar district.
B.  Chanaka-Korata barrage is being built on the Penganga river.

C. The Indian government approved the establishment of UNESCO International Training
Centre for Operational Oceanography (ITCOO) at Hyderabad.

The correct statement/s is/are :

(1) A,BandC (2) AvandB only
(3) Aonly (4) BandC only
808 WSO HDBFOOIOE :

A, SO0 O SNDENOE DTS SNE B8PS KEY eSSt (FBL T35
2018 237°Q 29 30T BFN.

B. O38-88e &808E) K0T SQR A801520¢0¢5008.

C. ORI B850 AT 0ST°BOH DM VeFS RE.e7 o0 3rSTerEHS
SOTOITS 238eh (D206 0 SIFOONOR.

QBT D3BE/e DA/ ?
(1) A BB C (2) A SNBSS B S(ed
(3)  ASTSH (4) B BN C Sr(dah

PRP1
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76. Examine the following in relation to Dr. G. Satheesh Reddy :
A.  Heis the new Chairman of DRDO.
B.  He made significant contributions to the development of indegenous missiles.
C.  He had done his studies from IIT-Kharagpur.
D.  Heis the winner of Homi J. Bhabha Memorial Gold Medal of Indian Science Congress Association.
Select the correct answer :
(1) B,CandDonly(2) A,B,&Donly (3) A &Bonly (4) A,BandConly
ol 22, DB BAE H00H0D &8 1808 7¢3Q HOBO00G
A @50 & 80.8.2. S TES.
B. 3209 § 35600 ©8S590S” e Sz en HB0TISASE.
C. @65 5 DT T 90.9.63. DEAIFES’ S8 TFD.
D. @J8 30300 R SPO[TR @FICIND ;DO I 2. 23°2F 220X DGHE0 D00,
DD 220 D0THTOR :
(1) B, C 0005 D S5(¢hadd (2) A, BXOON D Sr(dand
(3) A DBAN B S(H (4) A, B X000 C &35
77.  Akshay Kumar’s ‘Gold’ is the first Bollywood film screened in Saudi Arabia. What is the theme
of the film ?
(1) It deals with Indian cricket team winning the 1983 World Cup.
(2) It deals with Indian shootersvictory in Olympic Games.
(3) The movie deals with victory of Indian hockey team in 1948 Olympic Games.
(4) It deals with the life'of Milkha Singh.
98 ONHSIFE 588550 550N FS’ E BDAFS’ D80T S0EB0SES
2POHE S D(H0. S D[ S0PS L0FO DOES ?
(1) 198385 2385 (85 23€P FHODS (HHOTS &3y (HOBOD) & D0 SDAHBERN0D.
2) 20028 (S&S’ erdes Ared rEODS DBEOHO HBOD & IOIDB0 BOAMBN0E.
(3) 1948 S B@OAS B00DE 8BS 2rds P8 2 FOODS JBONO HOOD s
P30 BOADBNOA.
(4)  ery VO 20 MHBOD) & V(50 SOOHBNOA.
78. Examine the following statements :
1. Government of India approved 2017 as the ‘National Year of Millets’.
11. In the Pre-Green Revolution era, in 1965-66, millets were cultivated in about 36.90 million
hectares and in 2016-17 the area declined to about 14.72 million hectares.
iii.  In India, millets are mostly cultivated in low fertile land, mountainous, tribal and rain-fed areas.
BO& 5050 HBFO00A :
L @8 1DeNS0 2017 HDOISITR), DD 2PBAH  D0oHSIB0’ ™
SIrOHOVOA.
. SBs-a70eh DS 350 1965-6665 36.90 MOOHS TTES DR IO D
3.
il 2rESTEI0S 5005 PSSOBHPS 25T, D& e, AB2S HBASW $IY Erosreres’
QAGFTEOR BT D DI,
The correct statements are :/ QDD T FWVEEN D ?
(1) iiandiiionly (2) 1i,iiandiii (3) 1iandiii only (4) iandiionly
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79.

Match the following :
International Index (Year) India’s Rank out of Total Countries
A.  Global Gender Gap Report (2017) 1. 138 /180

B.  Per capita GDP (2017-18) 2 133 /155
C.  Press Freedom Index (2018) 3. 139 /187

4 108 / 144
808 3 8NG00 :
0TS 0N Hrd) (D05 380) o TreS

88T % ocgodd
A, oS Bocsd s 8D (2017) 1. 138/180
B. &8 Qre> D303 )e (2017-18) 2. 133/155
C. (2D (D3SO R0TE) (2018) 3. 139/187
4. 108/ 144
The correct pairs are :
DB 2350 DD ?
(1) A-3,B-2,C+4 2 A-2,B-1,C4
(3) A-4,B-2,C-1 (4) A-4,B-3,C-1
80. Match the following Governors with the respective states :
Governor State
A Banwarilal Purohit 1. Bihar
B.  Satya Pal Malik il. Tamil Nadu
C. Lalji Tandon iii.  Jharkhand
D.  Draupadi Murmu iv.  Jammu & Kashmir
& (808 K158 By a3 HBTOS T°laFOe 23¢9 HBH0G :
55626 o°l N0
A 2358erS HF xS i. D56
B. debsard SrO8 ii. ST
C. or® erots iii. SorQo&
D. 1308 S8 iv. 236507 52720
The correct pairs are : / QOGN 23650 I ?
() A-ii B-iii C-i D-iv
2) A-iii B-ii C-iv D-i
(3 A-iv B-ii C-ii D-i
4 A-ii B-iv C-i D —iii
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81.

Examine the following in relation to the Most Valuable Player (MVP) of Asian Games — 2018 :

A.  Japanese swimmer Rikako Ikee won this title.

B.  Rikako Ikee won eight gold medals beating North Korean So Gin-man.

C.  Rikako Ikee is the first woman to get the title of MVP at Asian Games.

D.  Asian Games — 2018 were held at Shanghai in China.

Select the correct answer :

(1) A&Conly (2) A,BandConly

(3) A&Bonly (4) C&Donly

D0 18 )aren - 2018 S Iy T°5e0520S RANE (DN.D.2.) IFS$E H00HOD &

1Bo& &7¢3Q HBBO0N0A :

A B 55020 85 98 & DR0.D.D. DHTA) FOLOA.

B. 058 08 &3S FEATEH ToAS & BI-TS O LA0D AAWE OIS DHSTOD
enHHO.

C. 85 08 ... FQODS TN -,

D. DVOHS B0)-2018 TS F200eS 2360 O0.

DD 220 D0THEOR :
(1) A DB C S(ehad (2) A, B850 CE»(ehadDd
(3) A HBAW B S35°(¢hadd (4) C DO3Sw D 35°(ehadd
82. Which of the followingCountries remained the top source of Foreign Direct Investment (FDI)
into India in 2017-18 ?
(1) England.and Germany (2) Mauritius and Singapore
(3) Mauritius and America (4) . Japan and Singapore
PESTI0S VBT DENDCED (D9.3.8) 2017-18 HOXSITVE e & 1808 O TFen
SN0CY 2P DOTCN)2
(1) KOO, 88 (2)  JrOAR, VoNYD
3) AR, @985 4) 2, DONYD
83. What is the theme for the First SAARC Agri Cooperative Business Forum held at Kathmandu ?
(1)  Provide free fertilizers and seeds to the farmers.
(2)  Prevent farmer suicides.
(3) Build consensus among companies and farmers.
(4) Organising and strengthening family farmer’s cooperatives to attain the sustainable
Development Goals -1 and 2 in South Asia.
gre00¢S BOAS RNVCES ‘SAARC X5 T0D HoTsd avedess HEY S NP0 (Ho)
A3 ?
(1) BHHOZ GDHOM JBHOD, DSrerdd Do TAHSO.
(2) B e3¢5 7S5 888 Cs0.
(3)  Z0DAEN DB BB NS TNBEAY, ABL0TIR0.
(4) 388 SVOTS VEDS @DIYE oFsen 1, 2 FOONETIE Z0en0 B®
DT 5508880 S S0 TAHSO.
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84. Which one of the following is a disputed area between Nepal and India ?

(1) Kanchanjunga (2) Doklam
(3) Kardungla Pass (4) Kalapani
&3 1808 ¢3S’ TFeS - 23S STIF0 ¢3S Ked DI IS (FPOS0 ?
(1) s0dlerorr 2) &%o
(3) 580 Srdo 4) e
85. Consider the following statements with regard to Neemrana Dialogue :
1. It’s a dialogue between India and Pakistan.
ii. It’s a dialogue between India and China.

iii.  It’s part of Track II Diplomacy
iv.  The Indian Delegation was headed by Ajit Doval.
QTR 0HETAZL HO0EODS & (8OB 55D KNAOTIOR.

i. QA 2S5 0O FEIR NS cdaerD.

ii. A8 28ed DBAN T DG doderd.

fii. & Track II Bl GR0EY 23°05e30.

iv.  2r3S3%0 3N A @RF E DO M T°00Eeh SO HEFOTIT K.
Choose the correct answer : / QBTN 2367°20e0 ODE WOV :

(1) i & iv Q) i& iii () 1L iil& iv 4) i & iii

86. Which of the following was held immediately after the end of First World War ?

(1)  Potsdam Conference (2) Paris Peace Conference
(3) Yalta Conference (4) Washington Naval Conference
&3 1808 are3eS” BCHE3 (HDOTS ANP0 SNAVD TOLS 28008 IO ?
(1) | &SI 530S (2) 0D F°OSB THOSY
(3) AL FHBIY (4)  20HS T3S TN
87. Nomadic Elephant-2018 is a joint military exercise between :
(1) China.and Pakistan (2) India and Mongolia
(3) India and America (4) Russia and China
SRHAT DO - 2018 OIE & T3° NS DOANE (23°000¢]) OB @235 ?
(1) T OB FEFS Q)  2rBSTFO HOAW HOFOAS>®
(3)  2rBHTZIO HOAN IS 4)  Ears HON TI®

88. Shimla Agreement between India and Pakistan was signed by :
(1) Indira Gandhi and Zulfikar Ali Bhutto
(2) Indira Gandhi and Zia-ul-haq
(3) Jawaharlal Nehru and Liyaquat Ali Khan
(4) Lalbahadur Shastri and Zulfikar Ali Bhutto
2 565-TBIRE 3638 23803 VW® 2,0)0503) DOBZ0 TID 0
(1) R0OT Tod, 27O )5°5 @& 2H&’
(2) ROST® POH, BASF-&O-3°5
(3)  B3FBerS T, OSrRS @O S
4) &S 25TVNE TR, 2055 @O HE'
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89.

Match the List-I with List-II and select the correct answer.

List — I (Scientist) List — II (Area)

A.  Alan Turing i. Physics
B.  Antoine Lavoisier il. Genetics
C.  Issac Newton iii.  Chemistry
D.  Gregor Mendel iv.  Computer
DEIE-1 08A5N DEE-IT ©02369H8) DOTHN DT, DODE TWONOR.

DK 1 (F(NJ) JEE 11 (o)

A, ©erS Qrs8oh i. 8% Q0

B. @0&ond BSonzsd ii. 20e38)

C. 205 Sr5edd iii. SANS T QO
D. (30 oS iv. Soy°sed

Options :/doDEen :
A B C D

(1y v il i il
2) i v i il
3) v i di i
4) iv 1 il
90. The movement of plant part in response to gravityis called
(1) Geotropism (2) Magnetotropism (3) Phototropism (4) Hydrotropism
e c83e058 (D250 ), 2B0FHOEFR) 00T ?
(1) &S0 2) RS IS’ vE0
3) 508 ©NN8S0 4) " 205850
91. Which of the following isnot an artificial sweetener ?
(1) Ranitidine (2) Alitame (3) Aspartame (4) Sucralose
1B0& ¢3S Eg e B HePsin (@rtificial sweetner) S D& ?
(1)  o3ES 2) @dBD (3) OV 4) ST
92. Which/of the following low density particles aré present in space ?
1. Neutrinos il. Dust
iii.  Plasma of Hydrogen iv.  Plasma of Helium
Options :
(1) 1, 1i and iii only (2) 1,1, iii and iv
(3) iii andiv only (4) 1iandiionly
180& ¢3° @0e58% 06Y GOT e ) 0(L36h e Eegren I ?
i g 3SR il 9 (dust)  dil. 3REBS TR iV, orOoHo T
Do :
(1) i, ii 8% iii SﬁS”LéﬁJ (2) i, i, iii 8O3 iv
(3) i QOO iv S3°(H (4) 10005 ii 33°(H
93.  Which of the following is NOT a member of the Vitamin-B complex ?
(1)  Ascorbic Acid (2) Thiamine (3) Riboflavin (4) Folic Acid
80O ¢3° DLW - B P05 230 A D ?
(1) Q°38)5 ©adm (2)  HADNDS (3) BEFIS 4)  *OT 35w
94.  The computer scientist, who is known as the founding father of ‘Artificial Intelligence’
(I) Lee De Forest (2) J.P. Eckert
(3) John McCarthy (4) Charles Babbage
‘SODAANSO R0LODBIY’ (artificial intelligence) 0 077 HBADRT DOIVT EosY°5erd
Qa3 DI ?
(1) O& oY 2) BDINE  B) S SE0 (4) 0D @)
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9s.

Which one of the following is NOT true regarding Western Ghats Biodiversity Hotspot ?

(1
)
3)
4)

Lion tailed Macaque & Malabar Gray Hornbill is a rare fauna.
The Western Ghats Ecology expert panel was headed by Madhav Gadgil.
The Western Ghats region is spread into 9 states.

It is one of the richest centres of endemism.

& (808 DELS) TS, D230 00O BIDARS SFEFIEH  HoD0SOD DA
AV 5°¢0 ?

OO0NS - VO HERE HAAW Heerd (1 FFHYDO @R ©DOT 9T

(1

)

8042 0.
DB ERNXNO ) D528 AN TROZ 337 MRO PO0EES SO a0 K.

(3) D)0 E0HEN (P00 9 T AFOS” DVBOD) NS E.
4) 9O @50 0D Ko RO 237 S0(0.
96. Match List-I1 with List-1I and seléct the correct answer :
List -1 List — I
a. Soot 1. Condensation of gaseous particles
b. Haze 2. Suspension of liquid droplets that formed after the
condensation of vapours
c. Mist 3. Caused by very fine dust in atmosphere
d. Fumes 4. Big size carbon particles impregnated with tar,
suspended into the air
2@e- 1 8@ 23DE- 1 ©023¢508 ) D8NS DdPTTS0 9 50E%.
rdee -1 e - 11
a. Jré 1. SO0EETO NS0
b. “ores 2. &8 TBNEY IS0 SB35 BB (85 Dodye>
PSESADNN
c. 3. TIBOS TP s09CNR 002 SBOT DEIBIE.
d. 80) 4. EHS FOODAS DY 2 8)S Bewyen, S
J)0& TADVAS.

The correct answer is/ QO 2355°20 D ?

a b ¢ d
(H 4 2 1 3
2 4 1 3 2
3 4 3 2 1
4 3 4 1 2
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97. The concept of utilising plants and flowers to clean the polluted soil is called
(1)  Bio-filtration (2) Phyto-Remediation
(3) Bio-diversion (4) Bio-flocculation
Eends G HIZ0 BONEIE Vg0 HOGIN YL IO EDTITA0TIB0 O 273
QET DENTX.
(1)  dTJ-DBAS 2)  DE-BROATAS
B) ATBr-BIES (4) 3-8 FriBAS
98. Arrange the following international initiatives towards sustainable development in a sequential
order (chronological) and select correct answer using the code given below :
a. The Brundtland Commission
b. Stockholm Conference
c. UN Decade of Education for Sustainable Development
d. Rio+20 or Rio Earth Summit
VS 9DSHRE H020B0D (B0 DEY ) OSTBOLOM (FS0DODD SESESTe D
SBIDE0E (52| S5O B0) €950 Jodad.
2. (2Qerodk EAS
b. 8 S50 52BN
c. OM.DS. BTE B8 IBSTAS HO RG2S BIODOE
d. B33 + 20 S OB @O HAED (B3 DY)
Code : / §&
(1) ¢ a b d
2) b d a ©
3) b.oa C d
4) b ¢ d a
99. The National Disaster Response Force (NDRF) is the responsibility of the Ministry of
(1) . Science & Technology (2) Home Affairs
(3) “Health (4) Environment, Forests & Climate Change
B A G23°Q0 BN, &30 ) (NDRF) &3 800(ed¢b §3° A30EY 277 56h
(D) QY HOAW Bos™) @28
Q) TR D5ded*TEN)
(3) &850
4)  DTEIG0, ©¢He)eN DOAN F°EIBED 3K
100. With respect to ‘Sustainable development’ which amongst the following statements is false ?
(1) It advocates expansion of agriculture.
(2) It advocates the concept of ‘reduce, reuse & recycle’.
(3) It makes the world a better place to thrive.
(4) It emphasizes on judicious use of natural resources.
VT DSYRE H020EH0D (0 D&YX ¢3S" DA O 5% ?
(1) 3O ST ON0 DRSBEIE 0P N0,
Q) WO IO ‘BRONE, DIBLRATJERO  HOASH  8VES T arId%
QSN OA.
(3) VA DDOV0 DHODT H9& TOSTIE S¢S0,
(4)  D5e SSBOXK FDSH0S GHTBPAOTTO &), Tenehdod.
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